Solution Math 002-01  Quiz 7 (B)

Q.1: If Ais a 3 x 3 matrix with |A] = 2 and B is a 4 x 4 matrix with |B| = 3, then find thevalue of the
1
ssion — [34| + - |2B].
expression 7 [BA| + 3 |2B|

1 2 1, 2.4 27 32 Y
Sol: 1|3A|+§\QB| = 43 |A|+32 |B| = 1 (2) + 3 (3) = 5
1 2 -1 3
. . 3 1 0 2
Q.2: Find value of the determinant 9 4 11
-3 -6 6 2
1 2 -1 3 —3R1 + Ry 1 2 -1 3 1 2 -1 3
Sol: 3 1 0 2 —2Rq + R3 0o -5 3 -7 —R3+ Ry 0o -5 3 -7
) 2 4 1 1 3Ry + Ry 0 O 3 =5 = 0 0 3 -5
-3 -6 6 2 = 0 O 3 11 0 0 0 16
— (1)(=5) (3) (16) = —240
4 2 3
Q3: If A= 5 3 7 |, find Cis + Mag — Css.
3 1 6
5 7 4 2 4 3
Sol: Cyp = (—1)'*? 3 6‘_9’M23_’3 1‘—27032—( 1)*+? 5 7‘—13
Cia+ My —C3p=-9-2+13=2.
1 2 3
Q4: If A= 2 5 7 , find A~! and show that AA~! = 1.
-3 -6 -10
—2R1 + Ry
1 2 3 1 0 0 3R, + Ry 1 2 3 1 0 0
Sol: 2 5 7 01 0 = 01 1 -2 1 0
-3 -6 —-10 |0 O 1 0 0 -1 3 01
R34+ R» —2Rs + Ry
3Ry + Ry 1 2 0 10 0 3 — Ry 1 0 0 8§ -2 1
= 0 1 0 1 1 1 = 0 1 0 1 1 1
0 0 -1 3 0 1 001 -3 0 -1

1
A7l = 1 1 1 and AA™! = 2 ) 7 1 1 1 =0
-3 0 -1 -3 -6 -10 -3 0 -1 0



